Determinants – Problems 




1. Evaluate  (a) 
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   (c) 
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      2. Evaluate  det
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3. Solve for 'a' if  
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                         4. Discuss:  
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5. Solve for x if  
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6. Solve for x if  
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7. Compute the determinant of each matrix.


(a) 
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(b) 
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(c) 
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(d) 
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8. Expand and evaluate 
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  9. Evaluate 
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  10. Evaluate   
[image: image15.wmf]11

23

3

1

42

1

1

141

--

-

-


11. Evaluate det(A) where:  (a) 
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  (b)  
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12.
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   13. Use Cramer's Rule:  (a) 
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 (b) 
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14. Solve using determinants: 
(a) 
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   (b)  
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  (c)  
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15. If  det(A) = −10 

and A = 
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 , find (a) 
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  (c) 
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  (e) 
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16. Compute: (a) 
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 (b) 
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Determinants – Answers




1. (a) 23  (b) 1  (c) 9
2.  −b2 

3.  0, 2

4. Not true. −3 
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 −9. Multiplying a determinant by a scalar is not the same as multiplying a matrix by a scalar.

5.  x = a

6.  x = 1/6

7. (a) 79  (b) 24  (c) −5  (d) 10

8.  21

9.  a3 + b3 + c3 − 3abc

10.  7/6

11. (a) −4  (b) −54

12. (t − 2)(t + 2)(t + 4)

13.  (a) (3,1)  (b) (−c/a, −c/b)  where ab
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14.  (a) (3, −1, 2)  (b) (1, −3, −2)  (c) (3/2, −2, 1/2) 
15.  (a) 10  (b) 10  (c) −10  (d) −90  (e) −10

16.  (a) −36  (b) −34  
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